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	Week 1 day
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How should I use my Knowledge Organiser to study?
You should complete your Independent homework timetable on page 3, so that you know when to study.
Year 7, 8 and 9 should be completing one hour of homework each evening. 
Year 10 and 11 should be completing two hours of homework each evening.  
All students study because they value opportunities to learn and improve. 
All students understand that in order to make excellent progress towards bright futures, they need to take responsibility for their own success and study at home as well as at the Academy.
We want you to have the very best opportunities available to you when you leave the Academy. Achieving excellent exam results in Year 11 and Year 13 is one way to help you to do that.
To gain excellent exam results in Year 11 and Year 13, you need to work hard in school every single lesson, every day in Year 7, 8, 9, 10 and 11. If you are in the Academy every day for 5 years you will have 4,750 hours of study time.
We want to make it as easy as possible for you to complete your study away from the Academy. Completing one hour of study per evening at home adds up to an extra 950 hours over your five years with us – which is like having an extra year of learning.

When and what should I study?
                      Why study?
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How should I use my Knowledge Organiser to study?
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Additional pages for personalised Maths information
































Additional pages for personalised Maths information
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Stick Option 1 subject Curriculum plan here


































Stick Option 2 subject Knowledge Organiser here

































Stick Option 1 subject Knowledge Organiser here



		













Stick Option 2 subject Curriculum plan here

































Stick Option 2 subject Knowledge Organiser here

































Stick Option 2 subject Knowledge Organiser here

































Stick Option 3 subject Curriculum plan here




























Stick Option 3 subject Knowledge Organiser here





















Stick Option 3 subject Knowledge Organiser here
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Step 3 3) Cover the definitions apart from the first: read it,
cover it, say it in your head, check it until you are
confident with it. Repeat this process with the other

words and take your time.

Step 4 4) Cover up each definition in turn and write them out
from memory. Avoid cheating as you need to know how
much you can remember. Don’t expect yourself to get it
exactly right first time.

Step 5 5) Correct your answers in green pen. Repeat the

process|
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Look-Cover-Write Check

Step1 1) Write the date and the title from the knowledge
organiser. Underline them.
Step 2 2) Write out the keywords you have been asked to learn,

leaving two lines between each word.
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Year 10 Year 11
Knowledge and skills Cross Curricular | Enrichment | Knowledge and skills Cross Curricular__| Enrichment
Cycle 1 | Literature Paper 1-Macbeth RE Great Cramof | RSCIve Uiterature Paper 2 GeoandBusiness: | Theatietip
Read and explore presentation of key cheractersand | Beingand Chistian | showings | play: An Inspector Calls or Blood Brothers | Economic world- nks
themes. belefs. Rea and explore presentation of key characrers | 10 Economic deas
Language Paper 2 Transactional Writing and themes. presentedin the texs.
(GAPS and key features ofdiferent written genres. Unseen poetry
SPAG siils. Analysis sl
Assessments:
Assessments: Previous GCSE Exam style questions
Previous GCSE Exam style auestions Mid-Cycle: An Inspector Calls- Theme of
Mid- Cycle: Macbeth- Theme of Ambition Responsibiity/Blood Brothers- Theme of
End: Transactional Writing- artcle and letter secrets and lies
End: Mock Exams
Cycle2 | Language Paper 1- Creative Writing Geograpny-The Bookclub | Revision and Consolidation Book cub
PAG ki, storystyles and forms. Ling Worldand | Carnegie Camegie
Literature Paper 1-Poetry Anthology Nature poetry. shadowing | Al sections of Literature and Language shadowing
Read and explore presentation of key themes and revisted and revised 25 appropriate for
contextual nformation. Creative e dusses
Wriing
pssessments: competitons
Previous GCSE Exam style questions
Mid-Cycle: Creative Writing Section
End: Theme of War
Cycles | Literature Paper 2-A Christmas Carol

Read and explore presentation of key characters and
themes. Understanding o historcal context.
Language Papers 1 and 2- Reading skills
Retieval, analyss, evaluation, synthesis, and
comparison.

Assessments:
Previous GCSE Exam style questions
Mid-Cycle: Theme of Redemption

End: Paper 2 Language reading section

All sections of Literature and Language
revisited and revised as appropriate for
specifc classes
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Year 11 - Cycle 2 - English Literature — A Christmas Carol

Characters

Key Quotations

Themes

Ebenezer Scrooge- A
miserable, selfish old man who
hates Christmas. After a visit
from four ghosts, changes.
Fred- Scrooge’s nephew of his
late sister Fan. He is a
cheerful, kind and forgiving.
Bob Cratchit- A poor,
religious family man who
works as a clerk for Scrooge.
He is treated poorly and not
given fair pay. He loves him
family and represents the poor.
Tiny Tim- Bob's youngest son.
He is ill and walks with a
crutch. He has a positive
outlook on life and is grateful.
The Ghost of Christmas Past
-The first ghost after Jacob, it
shows Scrooge a range of
Christmases from his past.
The Ghost of Christmas
Present- The second ghost
Scrooge who shows him a
range of people, including the
Cratchits celebrating
Christmas.

The Ghost of Christmas Yet
to Come- The final ghost
Scrooge sees who shows him
the future that will oceur if
Scrooge doesn't change his
ways.

Stave 1

‘Marley was dead; to begin with’

‘Are there no prisons? Are there no workhouses?"

‘Humbug!'

‘As solitary as an oyster.”

‘A tight fisted hand at the grindstone’

‘A squeezing, wrenching, grasping, scraping, clutching, covetous, old sinner!”
Stave 2

‘A solitary child neglected by his friends.’

‘Another idol has displaced me.

‘It was a strange figure- like a child: yet not so like a child as like an old man’
‘There was a boy singing a Christmas carol at my door last night. | should like to
have given him something: that's all'

‘He has the power to render us happy or unhappy; to make our service light or
burdensome; a pleasure or a toil’

Stave 3

‘There never was such a goose!’

“This boy is ignorance, this girl is want."

‘Then up rose Mrs Cratchit, Cratchit’s wife... brave in ribbons’

‘Dressed out but poorly in a twice turned gown’

‘What then if he be like to die he had better do it and decrease the surplus
population’

Stave 4

‘The phantom slowly, gravely, silently approached"

‘It's likely to be a cheap funeral...”

‘Quiet, very quiet the noisy little Cratchits...”

‘I am not the man | was.’

‘I will honour Christmas in my heart and try to keep it all the year’

Stave 5

‘I'm as light as a feather, as happy as an angel, as merry as a school boy!"
‘Scrooge was better than his word.”

‘As s0, as Tiny Tim observed, God Bless us every one!’

Family - Scrooge is rich but
miserable and the Cratchits are
poor but content as a family.
The Christmas Spirit -
Christmas is a time generosity
and kindness. It is even
powerful enough to transform
Scrooge.

Change/Redemption -Scrooge
is redeemed by the end of novel
and is a better person and
others have better lives as
result of it.

Social Responsibility -
Highlights the lack of
responsibility the rich felt for the
poor and the differences
between them.

Social Class - The characters
in different social classes are
treated differently throughout the
novel and the opportunities they
have.

Time and Place - Set in London
but goes to different places and
times with the ghosts.

Poverty and Wealth - The poor
are presented as characters we
should be sympathetic with and
the rich as ignorant and
uncaring.
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English Literature Cycle 2 — Macbeth

Characters:
Macheth — tragic
hero. A brave and
honourable soldier
and thane who is
tempted to commit
regicide.

Lady Macbeth — his
wife. Hugely
ambitious but unable
to live with her
actions.

Banquo — Macbeth’s
friend who is destined
to be head of a line of
kings and so poses a
threat to Macbeth
King Duncan — the
king of Scotland — but
not for long

Malcolm — Duncan'’s
eldest son and the
true heir to the
throne.

Macduff — the Thane
of Fife. He s the
victim of Macbeth’s
tyranny. Not of
woman born

Three Witches —
superatural beings
who can see the
future

Key Quotations:

Act1

“Fair is foul and foul is fair" Witches (S1)

“Brave Macbeth- well he deserves that name... “ Captain (S2)

“Stars hide your fires; let not light see my black and deep desires” Macbeth
(s4)

“Yet | do fear thy nature — it is too full o’th'milk of human kindness.” Lady M
(s5)

“...when you durst do it, then you were a man" - Lady M (S7)

Act2

“A dagger of the mind, a false creation.” Macbeth (S$1)

“Had he not resembled my father as he slept I'd ha’ done it.” Lady M (S2)
“... ifa man were porter of hell-gate...” Porter (S3)

“Hours dreadful and things strange...” Old Man (S4)

Act3

“Thou has it now... and | fear thou played most foully for it.” Banquo ($1)
“Our fears in Banquo stick deep” Macbeth (S1)

“Oh full of scorpions is my mind dear wife” Macbeth (S2)

“Fly, good Fleance, fly, fly, fly!” Banquo (S3)

“It will have blood they say. Blood will have blood.” Macbeth (S4)

Act4

“By the pricking of my thumbs something wicked this way comes” Witches

“He has kil'd me, mother.,” Son (S2)

“Macbeth is ripe for the shaking” Malcolm (S3)

Act5

“Out damned spot! Out | say!” Lady M (S$1)

“Make we our march towards Birnam.” Lennox (S2)

“Bring me no more reports, let them fly all.” Macbeth (S3)

“Out, out brief candle” Macbeth (S5)

“Tyrant, show thy face!” Macduff (S7)

“Macduff was from his mother's womb untimely ripp’d” Macduff (S8)
“This dead butcher and his fiend like queen.” Malcolm (S9)

Themes:
Witchcraft/Supernatural A lack of scientific
explanation led to people believing in witchcraft and
the supematural during Shakespeare’s time.
Ambition Macbeth's true downfall is his ambition
Lady Macbeth is as ambitious as her husband. Both
Macbeths fail to see how their ambition makes them
cross moral lines and lead to their downfall
Appearance and Reality In Macbeth things are
never quite what they seem... Characters say one
thing and mean something else. Wicked and violent
acts such as murder are covered up or the blame is
shifted

Loyalty and Betrayal Loyalty is important to many of
the main characters. Banquo displays loyalty to
Duncan and Macbeth betrays them both!

Madness and Guilt Macbeth’s guilt is focused on the
murder as he expresses his remorse for killing
Duncan. After that his guilt comes in the form of
paranoia and this sends him on a frenzied murder
spree. Guilt and madness come together.

Sexuality and Gender Disruption of gender roles are
presented through Lady Macbeth's usurpation of the
dominant role in the Macbeth's marriage. Lady
Macbeth is used to show that women can desire
power as much as men

Power Lady Macbeth's power comes from her words
through which she furthers her intentions. Macbeth’s
power comes from extreme brutality.

Death and Violence Each act of violence and murder
committed is a decline in Macbeth’s soul leading him
to further madness. Death is a symbol of his growing
ambition
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English Literature Cycle 2- An Inspector Calls

Characters:
Arthur Birling- Represents the capitalist
class that controls the wealth.
Sybil Birling -Arthur’s wife of a higher
class. An unsympathetic woman who
represents the bourgeoise (female)
upper class. More than any other
character, she is adamant that she is
blameless in Eva Smith's suicide.
Eric Birling -Same age and of the same
mind as his sister. He is adolescent in his
manner (‘half shy, half assertive',
according to Priestly) and drinks too
much, perhaps because he has not yet
found a meaningful role in life.
Sheila Birling -Early twenties, bright,
lively and optimistic. Unlike her parents
and fiancé, she expresses deep regret
for her role in Eva Smith's suicide.
Gerald Croft -Gerald Croft represents
the aristocracy, the highest class of
society, comprised of rich landowners
and people who inherit their wealth from
their parents. Engaged to Sheila.
Inspector Goole -A mysterious figure.
His name evokes the word ‘ghoul’,
meaning evil spirit or phantom. He
doesn't officially exist and appears to
have supernatural powers of perception
and persuasion.

Key Quotes:
Act1
Birling: The way some of these cranks talk and write
now, you'd think everybody hals to look after everybody
else, as if we were all mixed up together like bees in a
hive — community and all that nonsense.
Sheila: But these girls aren't cheap labour- they're
eople.
Birling: Still, | can't accept any responsibility. If we were
all responsible for everything that happened to
everybody, we'd had anything to do with, it would be very
awkward, wouldn't it?
Inspector: They might. But after all it's better to ask for
the earth than to take it.
Act2
Inspector: (massively) Public men, Mr Birling, have
responsibilities as well as privileges.
Sheila: (rather wildly, with laugh) No, he's giving us the
rope —so that we'll hang ourselves.
Mrs B: I'm sorry she should have come to such a horrible
end. But | accept no blame for it at all.
Act3
Inspector: One Eva Smith has gone — but there are
millions and millions and millions of Eva Smiths and John
Smiths still left with us
Mrs B: Really, from the way you children talk, you might
be wanting to help him instead of us.
Eric: (bursting out)... You're beginning to pretend now
that nothing's really happened at all. And | can't see it like
that. This girl's still dead, isn't she?

Fam

Themes:

Social Responsibility: The Inspector encourages
the Birlings to be more aware of their society and
understand that people need help from others. He
represents Priestley’s socialist views.

Age: The older generation struggle to change when
the Inspector is revealed as a fake but the younger
ones do. Priestley believed it was the young in
society that had the most influence.

Gender: Males and females have very specific roles
in the play that conform to the perceived social
stereotypes of the time. Men have more power and
influence, and the women are presented as more
shallow.

Class: Priestley shows the unfairness of the class
divide and how it affects the Eva Smith. She is
treated badly by the family because she is of a lower
class.

Power: The play has many different types of power
from that of parents to societal and hierarchical
power of the Inspector. The younger generation have
the power to change but the lower class don't.
Secrets and lies: All of the characters have secrets
from each other. The characters lie to the Inspector
and themselves and struggle to admit the truth even
when it is made clear.

ly: The Birlings show elements of good and bad
family relationships. The Inspector highlights the
distance between the Birlings and develops this
further.
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All Saints’ Academy Mathematics KS4 Curriculum

Cycle Year 10 Foundation Year 10 Higher Year 11
Knowledge & Skills Knowledge &S Knowledge & Skills
: Algebra: Foundation Higher
Laws of Indices o LawsofIn * Revision and o Circle Theorems
Multiplying linear expressions *  Multiplying linear expressions preparation o Quadratic
Factorising Quadratic Expressions *  Factorising Quadratic Expressions for mocks Inequalities
Changing the subject o Changing the subject o Sineand Co
Number: : o Revisionand
o Standard Form o Standard Form preparation for
o Error Intervals o Indices and Surds mocks
*  Compound Growth and Decay o Error Intervals
Construction: *  Compound growth and decay
o Perpendicular bisector of a line Geometry:
1 o Angle bisector o Pythagoras’ Theorem and 3D shapes
o Shortest distance from point to aline o Fractional and negative enlargements
n: o Similar Shapes and Triangles
o Simplifying ratios and sharing ratios * Area and Volume Scale Factor
s Bestbuys Construction:
o Perpendicular bisector of aline
o Angle bisector
o Shortest distance from point to a line
Proportion:
o Simplifying ratios and sharing ratios
o Bestbuys
® Connected Ratios
Geometry: Geometry: Revision and preparation for mocks
o Area of rectilinear shapes, triangles and o Spheres, pyramids, cones, frustums and
circles composite solids
) o Sector perimeter and area o Sector perimeter and area
o Area of compound shapes *  Area of compound shapes
o Surface Area and Volume of Prisms Algebra:
o Pythagoras’ Theorem o Algebraic fractions
o Constant of proportionality
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Algebra: o Straight line graphs.
o nth term of linear sequences o Linear and quadratic sequences
o Straight Line graphs *  Simple Geometric progressions.
o Simultaneous Equa *  Linear inequalities and inequality regions
Data Han s Simultaneous Equations — Linear, Quadratic
o Scatter graphs and Line of Best Fit and Circle Equations as one of the equations
o averages from tables and grouped
tervals
Probability: Algebra: Revision and preparation for final examinations.
* Product Rule for Counting *  Quadratic, cubic, exponential and reciprocal

o Two-way tables
* Venn Diagrams
o Tree Diagrams and Conditional
Probal
Geometry:
o Anglesin Polygons

ity

* Trigonometry

Algebra:
*  Solving Quadratic Equations

algebraically and from their graphs

graphs
s Tangenttoa circle
o Completing the Square
*  Solving Quadratic Equat
from their graphs
Probability:
* Product Rule for Counting
o Two-way tables

ns algebraically and

o Venn Diagrams
o Tree Diagrams and Conditional Probability
Geometry:
o Angles in Polygons
o Trigonometry
o Vectors
Sta

* Cumulative frequency graphs & box plots
o _Histograms.
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GCSE Maths Formulae

Midpoint of two points

Between (x1,,) and (x2,y,) the
midpoint is:

(n X Yt v;)
2 ’ 2

Circles

Area of a Sector
angle

)
360 rxradius’

Arc Length

360 xmxdiameter

Compound Interest

. hai time
starting amount x (1 + w)

100
The + means:

+for growth

~for decay

Perpendicular Gradients
Flip & Swap

To find the perpendicular gradient, find the
reciprocal, and switch signs.

Quadratic equations

The Quadratic Equation

The solutions of ax* + bx + ¢ =0,

where a0, are given by x = =
2a
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Year 11 Cycle 1 Knowledge Organiser
'GCSE Maths Foundation Formula Sheet

Pemlongoix 0

[Er———— Pythagoras

Pythagorss’ Thoorem
For s right-anged rangle.
Febe

Tigonomatrc ratios (new fo F)
s
> el

A o220 I
Topeshim = ia sinx: 88 cos x 22 tan - £28

Gompound measures
Sposcl

_ dissance
spaod - G

Dansity

p—
Midpointof 2 points 1, v2) and (32, 2) Volumes
(l’- Fnn “h)
"z 2 )

Guboid =/ w kb

Constructing Pie Charts
The ange to draw for each sector i
_ frequency.
Angle == x 360"

Compound Growt & Decay

The amount after n years (o days, etc)
G

where i therae of change. Angles in Polygons

e s ot et ] ‘Sum of Interior Angles = (n — 2) X 180°

Where n's the number ofsides of the shape

Exterior Angles add up to 360°

One exterior angle 360°

ina REGULAR polygon = ¢

Anaotecron=

Pairs of Interior and Exterior Angles add up to 180°
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Year 10 Year 11
Knowledge and skills Enrichment | Curriculum Knowledge and skills Enrichment Curriculum
links links
Cycle | Topics —Cell Biology, “Street Science’ | Maths — Topics — Evolution, Ecology, Chemical | ‘Street Science’ for | Maths —

1 | Organisation, Atomsand | for studentsto | throughoutall | Analysis, Chemistry of the studentstotake | throughout
the Periodic Table, Bonding, | at breakand | topics Atmosphere, Using Resources, Waves, | part in experiments | all topics.
Matter, Energy lunch, PE- Magnetism, Space Physics. atbreak and lunch. | Geography —

science society, | movement, links to
Assessment: aclub that circulation link | Assessment: sustainabilit
End of topic, small takespartin | to fitness End of topic, small assessments y.
assessments throughout. | events and DT—linksto | throughout. Mock Examinations.
competitions. | digestion and
food groups.
Cycle | Topics — Infection and “Street Science’ | Maths — Topics — Revision of all topics, “Street Science’ for | Maths —

2 | Response, Bioenergetics, | for studentsto | throughoutall | including targeted revision for student | studentstotake | throughout
Chemical Changes, Energy | at breakand | topics. specific areas. partin experiments | all topics.
Changes, Radiation, lunch, Recognising at break and lunch.

Electricity science society, | patterns, Assessmen
aclub that End of topic, small assessments
Assessment: takes partin throughout. Mock Examinations
End of topic, small events and
assessments throughout. | competitions.
Cycle | Topics — Homeostasis, “Street Science’ | Maths — Topics — Revision of all topics, “Street Science’ for | Maths —

3 | Rates of Reaction, Organic | for studentsto | throughout all | including targeted revision for student | studentstotake | throughout

Chemistry, Forces takepartin | topics. Using | specific areas. partin experiments | all topics.
experiments at | equations. atbreak and lunch. | DT—
Assessment: break and Assessment: electricity,
End of topic, small lunch, End of topic, small assessments wiring and
assessments throughout. | Trips to the throughout. Mock Examinations household
Mock Examinations. Cheltenham skills.
science

Festival.
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Year 11 Biology - Cycle 2 Knowledge Organiser 14t January-8™ March
Biology Paper 2- Ecology

Adaptations, interdependence and competition

Organisms adagtations enable them to survive in conditions where they normally live.
‘Adaptations may be structural, behavioural or functional

“Abiatic Biotic

Plantsina

community or
habitat compete
with each ather for
light. space, water

Non-living factors that

Living fastors that affect a
affect a commonity

‘commnity

and mineral fons. Liing inersty.

Avaibiltyof food
‘Animals campete Temperature.

with each ather for

food, mates and Mo level

territory.

il pH, minerol contert. New predators orriing

Species depend on

each other for foad,
shelter, pollination.
seed dispersal etc.

Wird intensity and direction
New pathagens.
Corbon dioxide evel for @

Removing a species
can affect the
whole community

Pl
One spasies outcampeting s0.
“wmbers are o lorger
‘aificent 1o bread

auapuadapasiuy

Oxygen levels for cquatic
orgerisms.

[

Organisation of an ecosystem

Photosynthetic organisms are the producers of biomass for life on Earth

Feeding relationships in a community

Primary
consumer

Tertiary
consumer

Producer

‘Secondary
consumer

)

BN = T

ttp://unwwaga.org.uksubjects/science/ge T
se/combined-science-trilogy-8464

Required practical- Measuring a population size of a common
species in a habitat. Use sampling techniques to investigate
the effect of a facton on the distribution of this species.

w»‘:‘w’u’ ploce

Organisms are counted
within a randomly placed
square

Quadrat

Organisms are counted
along a belt (transect) of
the ecosystem.

Al food chains begin with a
producer e.g. grass that is usually @
green plant or photosynthetic algae.

Consumers that kill and eat other
animals are predators and those
eaten are prey.

Tn a stable community the numbers of
predators and prey rise and fall in
CYCIES. e pmsssusbecompsnesesra A A~

il i oesu -

Processing data

Middle value in a sample.

Most occurring value in a sample.

The sum of all the value in a sample divided by the sample

Mean
number.

[eT————

_Cycle Assessment

How materials are cycled

cutenCrde

?o-; I3

o -
T

Biodiversity

Biodiversity is the variety of all the different species of organisms on

earth, or within an ecosysten.

A great biodiversity ensures he stability of ecosystems by reducing the dependence of
e species on another for food, shelfer and the mainfenance of the physical environment.
The future of the human species on Earth relies on us maintaining a good level of
biodiversity. Many human activities are reducing biodiversity and only recently have
measures been taken fo fry fo stop.

this reduction.

o oot e oS

Global warming

Waste management

Levels of O, and
methane in the
atmosphere are

increasing.

Decreased land availability from sea level rise, femperature.
rise damages delicate habitats, extreme weather events
harm papulations of plants and animas.

Land use

Humans reduce the amount of land and habitats available for other plants, animals
and microorganisms.

Rapid growtn | More resources used and more wste produced.

in human

popuiation ang | Pollation n woter: sewage, fertiiser or foxic chenicals

higher

Pollution n air: smoke or acidic gases.
standard of 9o

living

Pollution on land; landfill and toxic chemicals.

Building and quarrying.

Farming for animals and food crops.

‘Dumping waste.

Destruction of peat bogs o produce cheap compost for gardeners/farmers o increase.
food production.

Deforestation

Large scale deforestation has occurred to provide land for cattle and rice fields. grow
crops for biofuels. Reduces biodiversity and remaves a sink for increasing the amount COz
in the atmosphere

Maintaining diversity

Scientists and cancerned citizens have put in place programmes fo reduce the negative
eFfects of humans on ecosystems and biodiversity.

These include:

+ breeding programmes for endangered species

+ profection and regeneration of rare habifats

+ reintraduction of field margins and hedgerows in agricultural areas where farmers
grow only one fype of crop

* reductin of deforestation and carbon dioxide emissions by same governments

+ recycling resources rather than dumping waste in landil
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Year 11 Biology - Cycle 2 Knowledge Organiser 14t January-8™ March

Homeostasis  hios/fumw sbc com/education/topics/syyobs2

Homeostasis maintains optimal conditions for enzyme
action and all cell functions.

Biology Paper 2- Homeostasis and response

Enables humans fo react to their
surroundings and to co-ordinate T e
‘their behaviour v

The regulation of internal conditions of a cell o
organism to maintain optimum conditions for
function.

Blood glucose

; These automatic
concentration

control systems
Body may involve

temperature nervous responses
or chemical

responses.

Water levels

o —
P—"

Receptor | Detect stimul

‘Sensory Long axen carries impulse
neurone from receptor to spinal cord.

prp—
Sympse | Crimicl messaae ssng $ e
oo [t

3 4

“Alows imputses 1o trovel
betueen sensary and motar
neuranes in he spinal cord. 3 8

Reflex arc

Relay neurone

Long axen carries impulse oo macet ot

from receptor fo effector. )

‘Muscle or gland thaf carries Response
out response.

ttp://www:aga.org.uksubjects/science/gc T -
se/combined-science-trilogy-8464

Required Practical-Reaction times

A

1. Person 1 sits down on the chair, with good upright
posture and eyes looking across the room.

2.Person 1 puts the forearm of their dominant arm
across the table with their hand overhanging

the edge.

3. Person 2 holds a ruler vertically with the bottom end
(the end with the 0 cm mark) in between person I's
thumb and first finger. They will tell person 110
prepare to catch the ruler.

4. Person 1 catches the ruler with their thumb and first finger as quickly

as possible when it drops.

5. Record the number on the ruler that is level with the top of person I's
thumb.

6. Have a short rest, then repeat the fest several fimes.

7. Record your results on a fable.

8. Repeat the test with Person 2 catching the ruler and Person 1 dropping

it.

Mid-Cycle Assessmei =200

Endocrine system

The blood carries the hormone 1o a
farget organ where is produces an
effect. Compared o the nervous
system effects are slower but act for
longer.

Composed of glands which
secrete chemicals called
hormones directly into
the bloodstream.

Menstrual Cyele s ustnvsbonves esnBlssopL a7V OTES TrOer

ey

Controlling blood sugar

b comfustciery swasvo

(HT) FH
Follicle Causes stimulates

stinulating | DD | ouaries to
hormone (FSH) ‘;h an egg in produce
covary. | B rogen.

Monitored and controlled by the pancreas

Stimulates (HT)
release of an | Oestrogen
egg stops FSH

Luteinising
hormone (LH)

Too high (HT only) Too low

Pancreas produces the hormone
insulin, glucose moves from the
blood into the cells. Tn liver and | glycogen o be converted into
muscle cells excess glucose is glucose and released into the,
converted to glycogen for storage. blood.

Pancreas produces the
hormone glucagon that causes

production
and

stimulates guren
uterus lining. | production
in pituitary
gland, 7o

Oestrogen and
progesterone

Teses of

Fertility can be controlled by hormonal and

Contrelling fertility non hormonal methods

In Vitro Fertilisation (TVF)

[t oral Contain hormanes fo inhibit

FSH production so that no

contraceptives
Invaives giving a mother FSH ” eggs mature.
and LH to stimulate the

‘maturation of several eggs

For slow release of

Ijection, | Coecterone o inhibit the

implant, skin

The eggs are collected from ‘patch

the mother and fertilised by

‘sperm from the father ina
laboratory.

‘maturation and release of
eggs for months or years.

Condoms or diaphragms which
prevent sperm reaching the
g

Barrier methods

The fertilised eggs develop

into embryos Intrauterine | Prevent implantation of an

devices embryo or release o hormone.

At the stage when they are. ‘Spermicidal
tiny balls of cells. one or two agents.
embryos are inserted info the
mother's uterus (womb).

Kill o disable sperm.

‘Avoiding infercourse when an
299 may be in the oviduct.

Abstaining

Surgery ‘Male ar female sterilisation.
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Reproduction and meiosis  fres/enbbecom/education/teslesosicn

Meiosis leads to non-identical cells being formed while mitosis leads to
identical cells being formed.

Sexual reproduction involves the joining (fusion) of male and female
gametes:

* sperm and egg cells in animals

* pollen and egg cells in flowering plants.

In sexual reproduction there is mixing of genetic information which leads to
variety in the offspring. The formation of gametes involves meiosis.

Asexual reproduction involves only one parent and no fusion of gametes,
There is no mixing of genetic information. This leads fo genetically identical
offspring (clanes). Only mitosis is involved.

Year 11 Biology - Cycle 2 Knowledge Organiser 14t January-8th March

Biology Paper 2- Inheritance, variation and evolution

Cells in reproductive organs divide by meiosis to form gametes.
When a cell divides fo form gametes:

* copies of the genetic information are made

* the cell divides twice o form four gametes, each with a single
set of chromosomes

* all gametes are genetically different from each other.

DNA and inheritance =L
Gamete | Sex el produeed in e o -
Gere Sl section of ONA that s fo aparticlr proten
Alele Aiternateform o the same gere. ”
" type of alele—choysexpressed  orly are opy
Dominant | prebert and when peired ith arecessie llee
Represented by acaptl letter
" type of alle oy xpresssd whenpaedwith |
Recessive | anotner racessive llle Represented by & ower cese
letter. (o
Homorygous | Pai of e seme aleles, dominet o recessv. e greme o
o different alleles are present ominant anc ranism is the entire.
Haterozygous | T dfferent lleles cre present 1 dominrt ard 1 enetc materal of that
e
Alleles thet are present for a parfiular feature eg Bb  [I2 ¥hole human gerome
ortb his will have great
PI———————————
fur., blonde hair. blus eyes. [im the future.

http://www.aga.org.uk/subjects/science/gc 3
se/combined-science-trilogy-8464

Inheritance and Inherited disordens ol s ciaioua s

Using  punnet square (using mouse fur
colour as an exampla) Polydactyly Gysti fibrosis
orem | Sackfur | Whitefur Caused by inhariting o
oo Caused by nheritinga | recessie alele (beth
phenotype ot allele. parents have foct
Teast carry ),
parent o o
genotype A disordar o the cal
— mambrane. Patiants
ineacheas | incachsperm | | perzon/anmal toheve | ot conrol the
What | e | | et toesor ingars. | Sicasty o shair
gametes ore ® s
e Y
present | (8) S~
Sex ‘O pair of chromosomes
Cometes N determination- RO
5 The probability [
5 o i
0 = - of amale of = o
female child is E—
T o g 20k Therato | =] X |
pherpiype i 0%, Al of epring porchypes 18 Lt x| xx [ xv
cre hetarozygous (Bb) > x| xv

O Mid-Cycle Assessment
Variation Evolution by Natural Selection Liisifu it ilin™ === | Classification
88,8 Genetic causes 0 chspecis shows roin: h - Kingdom | Animalia Organisms are named by the
§82% (inheritance) There is usually extensive binomial system of genus and
§t<s - - genetic vartation within he Through natural selection of & Phylum | Chordata species. Humans are Homo
$ 802 [ Environmental casses | Senetic varation within the variants (genotypes) that give TR ot u - sapiens
B38| (condition they have | PoBVeionofsheres g rise fo phenofypes best d ) S £ clss [ Mammalia
i83s developed in) height hat can also be suited to their environment 35 orcer | Primates Carl Woese.
$%32 pu—— affocted by environment e.g. or envirormental change 9. e oy i (G . ie
283 combination of genes | nutrition, swnlight. stronger, faster. This allows e ser st by e i/l . - 3 domain based
i N ad e shorgr foter. Tis v X EE[ Faniy | vominidee 3 domai based on
3 & genotype to the next 2 Zome | Homo -
Mutations accur continuously. Very rarely a mutation will lead to a new generation. YD . | [ & -
phenotype. If the new phenotype is suited to an environmental change it i el o Y Species | sapiens Archaea (primitive
can lead fo a relatively rapid change in the species. Fossils and antibiot N bact de evidence f ot bacteria), true
ossils and antibiotic resistance in bacteria provide evidence for evolution. bacteria, eukeryota.

Evolution
A change in the inherited characteristics of a population over time through the
process of natural selection.

Over time this results in the formation of new species.

Extinction

When no members of a species survive

Due to extreme geological events, disease, climate change, habitat
destruction, hunting by humans.

Due to improvements in microscopes, and the understanding of
biochemical processes, new models of classification were

proposed.
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http://www.aga.org.uk/subjects/science/gc
se/combined-science-trilogy-8464

emistry of the atmosphere

Composition of the atmosphere

219 Oxygen 196 Argon

i sl contang 0.04%
carbon dioxide and
variable amounts of
water vapour

79% Nitrogen

https:

bbe.com/education/topics/zysw9g

Evolution of the atmosphere

2.7-1.7 Billion Years
Ago
Plants evolve and
release oxygen through
photosynthesis. They

take in more carbon
dioxide.

4.6 — 3.6 Billion Years Ago
Volcanoes erupt releasing nitrogen and

water va) Water vapour
ins the oceahs Some

condenses n
carbon dioxide dissolves in the oceans.
Carbon dioxide is slso locked in fossil
fuels and sedimentary rocks.

youtube.com/watch?v=IcQGLHT720Q

Nemasplese

Atmosphers is

mainly carbon
dioxide vith no

How oxygen increased

Algae and plants produced the oxygen that is now in the atmosphere by photosynthesis, which can be

represented by the equation

6c0, + 6H0 + CoHi0g + 60,

ight

carbon dioide + water » glucose

+ oxgen

Algae first produced oxygen about 2.7 billion years ago and soon after this oxygen appeared in the

atmosphere. Over the next billion years plants evolved and the percentage of oxygen gradually increased to a

level that enabled animals to evolve.

How carbon dioxide decreased

ot Plants absorbed CO,. They died and decayed. This layer of decaying plants was
lcompressed to form coal

[Plankton absorbed COz. Plankton died and were deposited n muds on the sea floor.

[They were covered over and compressed over millions of years.

[Shelled animals absorbed GOz o make their caleium carbonate shells. The remains

Jof these animals were compressed to form limestone.

outube.com/watch?v=)I34dmbtmnU&index=178&list=PLsorq7UsrfYsFLSgTetRVjzN6QYvf3jpC

il and natural gas

lLimestone

https://w

Mid-Cycle Assessment

Greenhouse gases and global climate change

the atmosphere

How humans increase carbon dioxide in How humans increase methane in the
atmosphere

Atmospheric pollutants

Greenhouse gases keep temperatures on Earth high enough to |Combustion of fossil fuels Tncreased animal farming Pollutant  Cause Effc'f
support life. Water vapour, methane and carbon dioxide are  [beforestation Decompesition of rubbish Tn TendFil [Carbon Tncomplete combustion of  [1X% 955 Colourless
greenhouse gases. How humans can decrease carbon How humans can decrease methane monoxide, | dnocanbon fuel land odourless so hard
T T T T dioxide concentration concentration lco Y lto detect.
G Bbes LR {0501 | [Use alternative forms of energy .g. " . ;
5 e Earn s e o 1 rgy e R
:r,a."";.:'f.‘::imm &?mn:fm“ Saviidbin  GeRCG | fuind turbines [Atternative foods - non-animal based Sulfur :“:;‘\"‘9 ';"‘." o fp""’r:' 1 [Cause respiratory
5 : o ovarth e = oth contain sulfur whicl
infred vl diedbyne e sorace, | [ £ o Ficient ]
e it : R T T e —— ioxide, 50210 ovgen in e problems (e for
fadition. Thisis because . [those with asthma).
hoors s [Carbon capture - capturing COz from lair. ombine with water
\ s toan poer stations and trapping it Nitrogen ~|In car engines. Naand Oz |00 45 cause acid
e B fared (Garbon off-setting - planting more loxides, NOx [from air react at high ra?n
\ Effects of global warm [temperatures. Gioba
Some o the S racition [Some regions will not be able to produce enough food because of drought. . obal dimming
o o IChanges to distribution of species and migration patterns. Particulates f"f‘”"’"{)‘ ‘;‘"‘T“""’" of |(reduction in sunlight
packitospace. [Increase in sea levels because of melting of polar ice caps yerocarbon Tue reaching Earth).
[Reduction of water supplies in some regions.

My Chemistry teacher is:
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Chemistry Paper 2- The rate and extent of chemical changes

Rate of Reaction

Mean rate = amount of reactant used  or  Mean rate = amount of product formed

Fime taken time taken
- . Rescton
i fecien i e
=} Sencen
Py
a T o T )
- — g —
pie= e e v

Collision theory= Reactions occur only when panticles collide with
enough energy.

Activation Energy= The minimum amount of energy particles need in
order to react.

Effect on Rate
[Tncreasing the.
|concentration increases
lthe rate of reaction.

Factor

(Concentration
lof reactants

Factors affecting rate of reaction:

=

n

[Increases the chance of a collision as
[there are more particles.

[Tncreasing the pressure
lincreases the rate of
eaction.

Pressure of
lgases

[Increases the chance of a collision
las there are more particles.

[Surface area [Increasing the surface.

[Exposes more of the salid so that

lof solid larea increases the rate [there is a greater chance of collisions
ctants__lof reaction. loccurring.
[Tncreasing the [Tncreases speed at which particles
[ Temperature [temperature increases [ move and makes collisions more
[the rate of reaction. __lenergetic.
(Catalyst [Catalysts increase the

tte of reaction.

|Lowers the activation energy.

https://www.bbc.com/education/topics/zwdaghv

Required practical: How concentration affects the rate of
reaction

[ soumuonense
White: ood
1. Measuring colour change i o ot

2. Measuring the amount of gas made

https://www.youtube.com/watch?v=GI6LVI70AIU

Mid-Cycle

Assessment

Catalysts

Catalysts increase the rate of chemical reactions but
are not used up during the reaction. Different
reactions need different catalysts.

Enzymes act as catalysts in biological systems.

‘mvalm\ energy
winoutcatalyst Catalysts increase the rate
of reaction by providing a
different pathway for the
reaction that has a lowen

activation energy.

|Activation energy

Energy [with catalyst

Progress of reaction

Reversible reactions

A reversible reaction is a reaction in which the preducts can also

form the reactants.
Shownas: A+B=C+D

If areversible reaction is exothermic in one direction, it is
endothermic in the opposite direction. The same amount of

energy is transferred in each case.

hydrated

endothermic
copper  endotherm
sulfate  exothermic
(blue)

anhydrous.
copper
sulfate
(white)

+ water

https://www.youtube.com/watch?v=QufIBPIH3zg&index=13

&list=PLsorq7UsrfYsFLSETetRVjzN6QYvf3ipC

Equilibrium
Equilibrium is reached when the forward and revense reactions
oceur at exactly the same rate. Needs a sealed containen.

HIGHER TIER ONLY:
Le Chatelier's Principle: If a system is at equilibrium and a change is made to any
of the conditions, then the system responds to counteract the change.

If the temperature of a system at equilibrium is increased:

« the amount of products at equilibrium increases for an endothermic reaction

+  the amount of products at equilibrium decreases for an exothermic reaction.

If the concentration of a reactant is increased, more products will be formed.

If the concentration of a product is decreased, more products will be formed.

For reactions of gases:

* anincrease in pressure causes the reaction to favour the side with the
smaller number of molecules (as shown by the symbol equation for that
reaction).

+ A decrease in pressure causes the reaction fo favour the side with the larger

number of molecules (as shown by the symbol equation for that reaction).
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Chemistry Paper 2- Organic Chemistry

Crude oil, hydrocarbons and alkanes

Fractional distillation-method of separating the hydrocarbons in crude oil based on their boiling points

Key terms:
Crude oil- A mixture of
hydrocarbons formed over
millions of years from dead
plankton subjected to pressure
Hydrocarbon- Molecule made
up of hydrogen and carbon
atoms only.

Alkane- A hydrocarbon
containing only single bonds.
General formula CoHznez.

methane
CHa

The crude oil is heated to 350°C.

ethane
CoHs

propane
CiHa

condense and flow out of the column.
o

https://wnww.bbe.com/education/topics/79488mn

butane
CsHig

Most fractions evaporate and become vapours. The S
residue doesn't boil and flows to the bottom of the

Q column,
H Hot vapours rise up the column and ccol down.

o)

— e

L cecen gy

When the vapours cool to their boiling point they

Those with lower beiling points rise further before
cooling down.

9
,,&'f
—g— Refinery gases do not cool down to their boiling point so
—H
%
S 3 )

Mid-Cycle Assessment

Properties of
hydrocarbons

Combustion of hydrocarbons

The combustion of hydrocarbon fuels releases energy. During
combustion, the carbon and hydrogen in the fuels are oxidised

The complete combustion of a hydrocarbon produces carbon dioxide
and water. Eg.

CH, + 20,—> CO, + 2H,0

methane + oxygen

2CH.+ 70,—> 4CO.+ 6H,0

ethane + oxygen

carbon dioxide + water

carbon dioxide + water

Cracking and Alkenes

Cracking i the process by which less-useful long-chain hydrocarbons
are split to produce an alkane and an alkene.

CisHaz * 2CH: + CiHs + CoHis

| [ ]

Alkane Alkene  Alkene  Smaller Alkane (petrol fraction)

An alkene is a hydrocarbon containing at least one double bond.
Used to make polymers.

Process Temperature
[Fraction is heated in the
presence of a zeolite catalyst.

Fraction is diluted with steam
land heated.
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Chemistry - Cycle 2 Knowledge Orgai
Chemistry Paper

Required practical-Chromatography and Rf values

Chemical analysis and using resources

Key terms-
Pure= A pure substance is a single element or compound, not mixed with
any other substance.

FormulationzA mixture that has been designed as a useful product.
Formulations are made by mixing the components in carefully me
quantities. Formulations include fuels, cleaning agents, paints, medicines,
alloys, fertilisers and foods.

Pure
substances do
melt at
specific
temperatures
(a horizontal
line is

Tmpure substances do not melt af produced).

specific femperatures.

[A method used to separate mixtures into their

(Chromatography |gifferent chemicals.

Identification of common gases

[The medium (c.g. paper) through which the mobile

[Stationary phase | 1 ace passes in chromatography.

|Gas.

[Procedure

ositive Result

Mobile phase |, ) in chromatography.

[The solvent (c.g. water) that carries the sample (.

Hydrogen

[Hold a lit splint af the
lend of a test tube

producing gas.

IHydrogen burns with a pop
inoise.

[A value (always less than 1) that shows how far the

substance has moved compared to the solvent.

[Equation: R, = distance moved by substance
distance moved by solvent

R value

(Oxygen

Hold a glowing splint ina
ltest tube of the gas.

[The splint relights if
loxygen is present.

Carbon
dioxide

[Bubble gas through
|solution of limewater.

(Carbon dioxide causes the
limewater to turn milky.

[Ee——
ecomjuatcnies
e r—
=

w
Lol

1

Chlorine

Place damp litmus paper

in the gas.

The litmus is bleached
hite if chlorine is
present.

bitps o youtsbe comustchvspna:

Jonindexc1s8is=piz

srvrsTemyneanTze

Mid-Cycle Assessment

Using resources key terms

[A resource used by humans that has a limited supply
le.g. coal.

[A resource used by humans that can be replenished

le.g. trees. If not managed correctly, the resource may|
decrease.

Water that is safe to drink. Has low levels of
|dissolved salts and microbes.

Water that has low levels of dissolved salts. Sea
|water is not fresh water.

[Only contains water molecules, nothing else.

A process that removes salt from sea water to
create potable water. Expensive as it requires a lot
lof enengy. Only necessary in areas with small amounts
lof fresh water e.q. Spain.

[Wastewaten produced by people. Contains potentially
|dangerous chemicals and large numbers of baeteria.

Desalination

|Sewage

T ——

[E— rvansantsipcsindecs1s

Water

= potabie vater in countris ith lenchl
r_nm»

m.g«nugmdmﬁm(

- S ier beds to remove partices.
© Sterilice to il microbes 5. by using chlorine,
azone o ultraviolet light.

btaining potabe water in countries wih lmited fresh
water requires treatmant of sea water:

;\{k

A\

Life cycle assessment

R — N

Life cycle assessments assess the environmental impact of
products. A LCA assesses the use of waten, resources, energy
sounces and production of some wastes during the following

stages:

+ extracting and processing raw matenials
+ manufacturing and packaging

 use and operation during its lifetime

+ disposal at the end of its useful life, including transport and
distribution at each stage.

bt youtube comustn

- @
~-@

jistpsorgrystvn

6=

P
@em
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Physics Paper 2- Waves

http://www.aga.org.uk/subiet
se/combined-science-trilogy-8464

Longitudinal Wave-
Oscillations are along the
same direction as the
direction of travel e.g.
sound waves.

Transverse Wave-

Properties of Waves

="

[The maximum displacement of a point on a wave away from its

Amplitude |undistubed position
Wavelongth | distence from a point on one wave fo fhe equivalent peint on fhe
Inext wave.
Frequency  |The rumben of waves passing a peint each second.
Period [The *ime needed for one wave to pass a given point.
. —[Region ina longitudinal wave where the particles are closest
ompression

Rarefaction

[together.
[Region in  lengitudinal wave where the parficles are furthest apart.

seabock

Oscillations are at [Absorb_ When the energy of an EM wave is taken up by an object.
) vight angles fo the [Transmit [When a wave is able to pass through a material-
wavelength sistance” 3 inei i
Spiitde direction of travel Reflect [The wave bounces off a surface: the angle of incidence is equal to  [Wave speed - V=fA |Wave speed - metres per second
¢.g. water waves, all the angle of reflection. Frequency x (/)
2 s Refract [The wave changes direction when it enters a medium of different [wavelength Frequency - hertz (Hz)
lectramegretic [density where it has o different speed. Wavelength - metres (m)
Mid-Cycle Assessment
Types and properties of Electromagnetic waves Required practical-observing the properties of | Uses and aiilicafions of Elecfrcmaineﬁc waves
Long wavelength » Short wavelength waves
Radio Waves [Television and radio
7295 | covaves | area| VI | i [ oy | Gamna e e , ". e _
| — crowaves[ootalie sommricatins,
Low frequency + High frequency cosking foed
Obsersing waves ina ol Infrared  pood infrared ameras
Prope EM Wave Sound Wave
Speed 300,000,000 m/s [Much slower (around 330 Visible Light ~[Fibre optic communications
Im/s) 2"9:/ : . youtube.com/watch 3 o ; i o — o
Wodium 7 [Gan fravel Fhrogh [Solids Tiude, gases e Uitraviolr_[Eneray efficient lampe, sun — [rematre skin ageing. ncrcoce i
jcan travel ?"Y"“’)‘g' even a vaeuum - [Medical imaging and [Tonizing - can cause mutation of
roug space - X-Rays [treatments lgenes and cancen
Type of wave [Transverse [Congitudinal Obssrving water
Wavelength_|Very short [Longer woves i ipple amma Rays [Medicel imaging and [Tonizing - can cause mutation of
sube co 2005 T Qiner=t

My Physics teacher is:
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Physics Paper 2- Forces (speed) se/combined-science-trilogy-8464

Scalar and vector quantities s/ she com/education/copics/amn Speed/Velocity Distance-time graphs

Scalar quantity: A value with magnitude (size) only, c.g. speed, Speed does not involve direction. Speed is a scalar quantity.
distance.

[Constant speed - straight

Velocity is the speed of an object in a particular dinection. line

Vector quantity: A value with magnitude (size) and dinection, e.g. -
all forces, displacement, velocity. Terminal velocity is the maximum speed of a moving object. Occurs AC“‘%"“""‘F curved line
when the force moving an object (e.g. gravity) is balanced by lupwards
Distance and displacement frictional forces (c.0. air resistance). [Decelerating - curved line
lgoing towards horizontal
[Stationary - horizontal line

Distance (km)

Distance is how far an ob]ecf moves. Distance does not involve You must learn this equation and units.
direction. Distance s a scalar quantity.

Symbol mmEEEE [Gradient of line can be

Displacement includes both the distance an object moves, measured equation ESAC RS calculated to give speed

in a straight line from the start point to the finish point and the . et T .
direction of that straight line. Displacement is a vector quantity. Distance = speed x time[s = vt |Distance - metres (m)

Speed - metres per second (m/s)
https://www youtube com/watch?y=2cCQOTzub7sBindex=108list=PLsorq7UsrfY Time - seconds (s)
VIZ0BIsMaSYdydKdeICo

Mid-Cycle Assessment

Acceleration Required practical: Varying force and varying mass Newton's laws
You must learn this equation and units.

- [The velocity of an object will only change f @ resultant force is acting on the,

" lobjecr.
Symbol Units ) ) [TF e is ne resultant force the object will
equation + Time how long it takes for a toy car or trolley of constant mass | Remain statianary if t was not moving.

2 = &v - Acceleration = melres per oo o datonce wher, e o o e e g e e Free e e
lsecond squared (m/s?) different forces are applied to it 2 lwobjecs. and inversely proportiondl 0 she mass of fhe objec. 6. Force - mass x
Velocity = metres per * Time how long it takes for a toy car or trolley to move a occeloration.
lsecond (m/s) distance if fhe_ force applied is constant but the mass of the toy 15 law x::l"::;r ::“M«'s interact. the forces they exert on each other are
ime = seconds (s) car or trolley is varied L
+ Caleulate the acceleration of the toy car or trolley in each case. Forces and braking

UsriYviz0B15MoSYoyaKtHAeICo
[The stopping distance of a vehicle is the sum of the distance the vehicle]
|Stopping PPing

. [ravels during the driver's reaction time (shinking distance) and the
[Accelerating - straight line with velocity increasing ldistance rerancc s travels and he bealona foves (brating disseme)

[Corstant speed - harizontal line

[Decelerating - straight line with velocr [Thinking
|decreasing ° N v |distance
2%, [Stationary - arizontal T on x-axis (velocity = 0)

[The distance a vehicle travels while a driver is reacting

[The time it takes for a driver to react. fypically 0.2-0.95. Affected

lby tiredness. drugs. alcohol and distracti

[The distance a vehicle travels under braking. Affected by weather

[Braking distance [conditions (e.g. rain or ice) and the conditions of the brakes and fyres
of o vehicle

[Reaction time

[Moving backwards - below x-axis

[Gradient of e can be calculated fo give
acceleration o deceleration
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Physics Paper 2- Forces (forces and motion) se/combined-science-trilogy-8464
Key terms s Gravity and Weight Work done o

Scalar quantity: A value with magnitude (size) only, .g. speed,
distance.

Vecton quantity: A value with magnitude (size) and dinection, c.g.
all forces, displacement, velocity.

Contact forces: Force between objects that are touching e.g.
friction, air resistance.

Non-contact fonces: Force between separate objects e.g
gravitational force, magnetic force.

Resultant force: A resultant force is a single force that has the
same effect as all the fonces acting on an object.

Weight is the force of gravity acting on an object's mass.
Measured using a newtonmeter.

You must learn this equation and units.

Units

Symbol

equation
W=mg

[Weight - newtons (N)
[Mass - kilograms (kg)

(6FS - newfons per kilogram
)

The weight of an object may be considered to act at a single point
referred to as the object's ‘centre of mass'.

The weight of an object and the mass of an object are directly
proportional.

Work is done when an object is moved through a distance.
When work is done against friction there is a temperature
rise.

You must learn this equation and units.

Units

Symbol

equation
W=Fs

Work done - joules (I)
Force - newtans (N)
pistance - metres (m)

Work done = force x
distance

Mid-Cycle Assessment

Forces and elasticity

Elastic deformation lriginal length.

[Occurs when a spring is stretched and can then return to its

propertanaly

|Inelastic deformation laltered.

[Occurs when  spring s stretched and its length is permanently

Forc-estansion gragh

N

[Limit of proportionality

[The length a spring can be stretched before it no longen is able]
[to return to its original length. Beyond the limit of
roportionality, a force-extension graph is curved,

Btenson in
proporconaita

You must learn this equation and units.

Units

Symbol equation
F-ke

[Force = spring constant x extension

Force - newtons (N)

Required practical-investigating the relationship between
force and extension for a spring =

+ Hang different masses from a
spring and measure the extension
of the spring for each mass

used

+ Convert mass into weight

+ Use your results to plot a graph
of extension against weight-

|Spring constant - newtons per metre (N/m)
[Extension - metres (m)

My Science teachers are:
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Physics Paper 2- Magnetism and Electromagnetism

Poles of a magnet hitps://wnwnw.bbe.com/education/topics/zwianwet | Magnetic Fields

Pote [The places on a magnet where the magnetic ) [Magnetic material |There are four magnetic materials: iron, steel, cobalt and nickel.

[forces are strongest. Opposite poles attract B [Compasses contain small bar magnets which points to the north pole of the Eanth's
[Magnetic [The area around a magnet where a force acts rmb <$En— ompass magnetic field.
Ficld lon another magnet or magnetic material. 3 £
[Occurs when two like poles are brought close
[together. The magnets push apart. The strength of the magnetic field depends on the distance from
(Occurs when two eppesite poles are brought Same poles repel the magnet. The field is strongest at the poles of the magnet. D

close together. The magnets move together. The direction of the magnetic field at any point is given by the i
” . et [ e =— , g ny point is given by

direction of the force that would act on another north pole placed
at that point.

[A magnetic material that becomes a magnet The direction of a magnetic field line is from the north (seeking)
[Induced  |when it is placed in a magnetic field. When N N pole of a magnet to the south(secking) pole of the magnet.

magnet  [nemoved from the field it quickly loses its
|magnetism.

Repel

Attract

|Permanent

magner |/ megnet that produces its own magnetic field.

. youtube com /atch?u=xMSKTUzIHER index=168ist=PLsora7UsrYviz0B1sMoSYayakiHaelca

Mid-Cycle Assessment

Electromagnetism Fleming's left hand rule (Higher tier only) Electric motors (Higher tier only)

[A coil of wire that will create a magnetic field when current eyt
|Solenoid s passed through it. The magnetic ield inside the solenoid is| | A Fule that shows the relative direction of the current, force
|strong and uniform. Tt acts in the same way as a bar magnet. | | and magnetic field in the motor effect.

[A solenoid containing an iron core which increases its
[Electromagnet|.irength,

In this case the red
part of the wire would
experience a force

Motion

The magnetic field in a solenoid is N
concentrated inside the coil in a Field Align fingers to the field

uniform direction, otherwise it acts in and the direction of the [— ey upwards.

Caron Brshes (e conietn)

‘the same way as a bar magnet.

/‘// To increase the force of a solenoid
=< [Add aniren core

[[ncrease the number of coils of wire To increase the force of a motor
[ncrease the current | Increase the numben of coils of wire

[Move the magnetic material/ magnet —
lloser to the solenoid Increase the strength of the magnetic field
[Increase the current

current to work out the
way the wire moves.

Lsora7UsrTYviz0B1sMaSYoyiKtHaeICORindex=17
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bports Curriculum 2022-23

Year 10 Year11
Cycle | Component 1 Preparing to take part in sport Unit 6= Leadership
1 | AExplore types and provision of sport and physical activity for different types of
participants Unit 6—Leadership Unit 6 - Leadership Unit 6 - Leadership
Assignment 1 Assignment 2 Assignment 3
8- Examine equipment and technology required for participants to use when taking skills Lesson plan Strengths and weaknesses
part in sport and physical activity Qualities Justification of lesson plan || of lesson
C—be able to prepare participants to take part in physica activity Responsiilites Risk assessment Suggested improvements
Leader 1/leader 2 Teaching of lesson Development plan
Comparison of leaders
‘Assessment Jan — coursework scenario Coursework assessment
Task 1~2 hours - written
Task 2~ 1 hour - practical
Task 3 -2 hours ~ practical video/written
Cycle | Component 2~ Taking part and improving other participants sporting performance
2 Assignment 1 -
A~ understand how different components of fitness are used in ifferent physical A_personal information to design a training programme
activties
Assignment 2
B~To be able to participate in sport and understand the roles and responsibilities of | 8., adherence factors ~ barriers/strategies to participation
officials Assignment 3
C. training diary log to keep
€~ Demonstrate ways to improve participants sporting techniques. Assignment 4
D, review of the training programme ~ modifications/evidence/ strengths, recommendations
Coursework assessment
Cycle | Component 2 -Taking part and improving ofher participants sporting performance | Unit3.
3 Assignment 3
A~ understand how different components of fitness are used in ifferent physical C. training diary log to keep
activties Assignment 4

BTo be able to participate in sport and understand the roles and responsibilities of
officials

C - Demonstrate ways to improve participants sporting techniques.

D review of the training programme ~ modifications/evidence/ strengths, recommendations

May/lune assessment
Task 11 hour — written

Task 21 hour practical video

Task 31 hour - practical presentation
Task 4 - 1 hour - practical video/written

Coursework assessment
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Unit 3 — Training for Personal Fitness

Assignment 1-Task 1, Task 2, Task 4
Assignment 2- Task 3
Assignment 3-Task 4

ssignment 4 —Task 5

. DESCRBE e s of g 0 | e,
ernc s o s o
g s

s g progran,mannng 3
g .

AR et s ek
et vt progranne,
ineing wsinng g

peon s i g,
i i iy o et

T REVIEW e ek perant s,

oA of e e

3 AT cmmenaaton o e

Assignment 1- Designing a plan
Assignment 2- Exercise adherence
Assignment 3- Training diaries
Assignment 4 — Review

iteracy Key words: SMART targets, principles
of training, warm up, cool down, barriers,
training methods, intensity.

Numeracy: Heart rate, rating of perceived
exertion, duration, repetitions, weight.

Task 1 — Assignment 1
Personal summary to include:
*  Attitudes and personal motivation
+  Medical history
*  Physical activity history
+  Aim of your personal fitness plan —
current level of fitness.
*  SMART targets: Short, medium and long term.
s~ specific - why is your aim specific to you?
M —Measurable - how are you going to measure it?
/A— Achievable - the activities | have chosen | can do and complete with ease.
R~ Realistic - | have thought about my plan and completed my training around
my revision and work.
T~ Time — how long is your training plan for?
Don't forget about how you will make your plan exciting and record resuits.

ink to findings and

Task 2 — Assignment 1

DESCRIBE the principles of training and say how you will apply them to your plan.
F — Frequency - how often you exercise, how many times are you and why?

1= Intensity - how hard are you working why?

7= Time - how long is each session why?

T~ Type - type of training you are doing why?

Additional Principles:
Progressive Overload — how are you gradually making the plan harder over the 6 weeks?
Specificity — how do the exercises you have included meet your aim?

Individual Differences/needs — how/have you had to take into account your medical
conditions/ revision/family/school Iife.

Adaptation — the changes that happen to our bodies when you exercise. What f the plan
i too easy and you are not pushing yourself? Has your body changed?

Reversibility - were you ill? Did you have to stop exercising or miss a day? How did you
feel?

Vari

ion- how did you make you plan interesting. What various activities did you use?

Don't forget to say how you will warm up and cool down.

Task 3 — Assignment 2

Exercise adherence

Think about what sorts of factors caused you
problems and had a negative effect on your ability to
carry out the exercise programme. Also think about
what you did to try to overcome these problems.

Barrir deseription v to ovarcome description
'+ you/could you do to overcome

by

Accens to faciities —Can you get 1@

planz
Cost —Can you aiford the actwities
You would ke to do?

Motivation - Are you motivated and

< avaiabla to

take part in your plan?

Task 4 —Assignment 1 and 3

Design and implement a 6 week training programme.

Make it interesting and relevant to your needs and aims.
Don’t forget to say why you have chosen this design.

Methods of training

Things to consider: Continuous, Interval, Fartlek, Weight,
Flexibility, Circuits, Speed, Plyometrics.

Safely folow your plan and record your progress through the _{_y,
use of training diaries.

HEART RATE TRAIING ZDKES

[

. ‘ Y e 0 ‘ e
e
omamam

et i, o, s s, I et
[eR—— Maximum Heart rate
=220 and subtract
your age. (220 - 14
=206)

B Ty
06206= 12508552

iy

Task 5 — Assignment 4

Your review:

Now that you have completed your training programme, the next step s to look.

back on how it went.

+ Did you achieve your training goals?

+ re there areas in the programme that can be modified to help you to
continue to improve your performance?

* What were your STRENGTHS and AREAS TO IMPROVE?

When conducting your review, try to answer the following questions:

+ Which areas of fitness have you improved?

+ Which areas of fitness would you stillike to improve?

+ What evidence do you have to support your answers to these?

* If you are thinking about carrying on with your training programme: How
would you change your training programme to make it better and why would
You change itin this way?
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WP 57, 5F

‘Start revision for Macks -

‘Structured Revi

* Matters of life and death - Sanctity of life and essociated teaching
« Christian Beliefs and Practices, plus marriage and fanily revision

+ Revision from the post mack point will be bosed upon weak areas from full mocks for each class, below is a suggested outline. This will be confirmed in Dept.

mectings and agreed with HoF. Interventions will begin for some groups.

ssess Week (1 week)

'GCSE style assessment. based upon his fopic. Assessment and mark scheme in shared area.

Review - (1 week) “Green pen against mark scheme, peer review Then feacher assessment followed by consalidafion of common misconceptions.
Gdez= e e 2 UL OGS + Raviion - Tlamic Thamez -
+ crime and Punihment
sl el - + Justice ond Crime
+ Good ond Evil and Punishment
& Belefs and 5 Boots + The cims of punizhment and forgiveness
+ Trectment of crininal and the dsath penaty
+ Allch and prophets
* Holy books and Angele + pease and Conflct
e + Peace and peacemaling
+ Conflct and Pacifism
+ Living the Muslim Life revision - Aot
+ The 10 obliatory Actz and Shahadch + WD and Zsues srrounding conflict

+ Sdlah and Sawm
+ Zakh and Khums - and Hajj

Revision and infervention sessions. Paper 1 and paper 2 will be in May
+ Jihad and celebrations and festivals

Possible structured revision depending upon exam results from Core mocks

Assess Week (1 week)

'GCSE style assessment, based upon this fopic. Assessment and mark scheme in shared area.

Revien - (1 week)

‘Green pen against mark scheme. peer review then feacher assessment followed by consolidation of common misconceptions.

Exomin oy 2023
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Worship
Christians have two types of worship

liturgical worship, which is worship using a set
form.

non-liturgical worship, which has no set form
and tends o focus on music and the sermon

All Churches have informal worship at
gatherings such as Mums and Tots, and
Christians also worship in private.

Tt is important o have different types of
worship because people have different
feelings and interests.

Sacraments
Sacraments are celebrations. They mark
stages in life and are outward signs and
symbols which show that an inward gift from
6od has been given.

Catholics, Orthodox Christians and some.
Anglicans have seven sacraments, while most
Protestants just have baptism and Eucharist.
Christians are baptised fo become members
of the Church and fo remove their sins.
Most Christians are baptised as babies, but
some Christians such as Baptists are baptised
as adulfs.

Some Christians (Catholic and Orthodox)
believe that the bread and wine in the.
Eucharist change to the body and blood of
Tesus, others (Protestants) call it Holy
Communion and think it is just remembering
the Last Supper. but all Christians believe
that it unites them with Jesus and each
other.

Prayer

Vocal prayer - prayer using words
Meditation - thinking about religious matters
Contemplation ~ communion with God
‘Adoration - praising or adoring God for what
heis

Thanksgiving - prayers thanking God

Confession - prayers saying sorry for sins and
asking God's forgiveness

Supplication

[D] "Everyone needs to pray. * Evaluate this
statement considering arguments for and
against. In your response you should:
refer to Christian feachings
refer to different Christian points of view
reach a justified conclusion,

[12 Marks]

Pilgrimage

Pilgrimage has always been important for
Christians as they believe it brings them
closer to God.
Christians go o Jerusalem 1o feel close to
Jesus in the places he spent his final days.
They visit places like Walsingham to feel
close to the Virgin Mary and go on pilgrimage.
0 places like Tona and Taizé To become more
united with other Christians.
“Every year Jesus' parents went to Jerusalem
for the Festival of the Passover. When he was
twelve years old, they went up to the festival,
according to the custom. After the festival
was over., while his parerts were returning
home, the boy Jesus stayed behind in
Jerusalem, but they were unaware of it. (Luke
2141-43)

Christian Celebrations

~ Advent is a four-week preparation for
Christmas when Christians think about
Tesus coming again o bring in the final
Judgement.

- Christmas celebrates the birth of Jesus
and is important for Christians because
without the birth of Jesus there would be
no Christianity and no salvation from sin.

+ Holy Week is when Christians remember
the last week of Jesus' life, especially the
Last Supper on Maundy Thursday and the
crucifixion on Good Friday.

- Easter Day celebrates Jesus rising from
the dead. Easter is important because it
celebrates the founding of the Eucharist,
Jesus dying to save people from sin and
rising from the dead to give Christians the
hope of eternal life.

The future of the Church

Great Commission - Jesus' last command o

his disciples o go out and conver the world

Evangelism is imporfant for the church as a

whole and for individual Christians.

Why is evangelism imporfant?

+ Enables Christians to obey the Great
Commission of Tesus

+ Encourages Christians to tell other people
about their faith

+ Can help the poor and suffering o have
hope

+ Can occur alongside improvements fo
education and healthcare

+ Keeps the Christian message alive and
relevant 1o life today.

+ Brings many new Christians to the Church.

What is missionary work?

The church has a mission o spread the

Christian faith. It does this by sending

missionaries around the world. As well as

preaching to people about Jesus, missionary

work may also include working among the poor

o build hospitals and schools, nursing and

reaching,

The local Church

Denomination - A group of Christians with
shared set of beliefs.

Parish - A community of believers from a
denomination in a particular area.

Ecumenism - A movement that fries o bring
different Christian denominations fogether.

Why is the local church important?

« Local churches provide worship, the
sacraments and opportunities 1o learn
more about the faith.

« They are important to the local area
because they also provide schools, social
facilities and advice centres as well as
running such things as food banks.

+ They are also involved in working with
other churches To bring about Church
unity (ecumenism).

The worldwide church

Reconiliation - bringing together people who
were opposed to each other

Persecuted - to treat people badly or harass
‘them because of their religion/race etc
Charity - he voluntary giving of help, Typically
i the form of money, fo those in need
Forgiveness - Stopping blaming someone,
and/or pardoning them for what they have
done wrong

+ Christianity is the world's largest religion
and is at work throughout the world. Tt
‘tries fo bring an end to conflict because
Christians believe that Jesus died fo bring
forgiveness and reconciliation.

+ The Church is being persecuted in Muslim
countries which operate Shariah (Tslamic)
law and in dictatorships like North Korea.

"Homage - acknowledgement of superiority
Reverence - an act showing refigious respect
Host - unleavened bread used in the Eucharist
Clergy - people ordained for religious duties
in Christian

Churches Vestments - official robes for
those leading Christian worship

Lectionary - a list of Bible readings o be
read af certain times of the year

Liturgical year - the year in the Church's
calerdar based on the special festivals from
Advent to Pentecost

Congregation - the peaple assembled for
worship

Li a sef form of public worship

Holy Communion - the Christian service of
thanksgiving using bread and wine (also called
Eucharist or Mass)

Extempore prayers - prayers said without
preparation

Sacrament - an outward sign of an inward
blessing

Penance - an action showing sorrow for a sin
Eucharist - a Christian rite considered by
most to be a sacrament

Grace - God's gift which gives strength 1o be
good and holy

Infant baptism - baptising babies, with their
parents and godparents making vows on their
behalf

Paschal candle - the large candle kept in the
church throughout Easter and first Iit on
Easter Day

Believers' baptism - restricting baptism fo
Fhose old enough to understand the meaning
of the ritual

Dedication - a ceremony involving a child
being presented fo the congregation and vows
being made to encourage the child to follow
the Christian life

Absolution - through the actions and words of
a priest or minister pardon of sins is assured
Holy Communion - where Christians share
bread and wine re-enacting the Last Supper
Transubstantiation - the belief that during
The service of Mass (also called Eucharist o
Holy Communion) the bread and wine
+ransform into the body and blood of Jesus

Stretch and challenge:- Does the Church still have relevance in the 21 Century? Has the true meaning of Easter and Christmas been lost?
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Edexcel - Year 11 Religion and Ethics - Cycle 2 - Matters of life and death

‘Origins and value of the universe
Today. the idea now known s the Big Bang
theary is the most accepted scientific

explanation for how the universe came info

[ ———

o == =

+ Christianity teaches that the universe is
important and is a reflection of Gods
great power and wisdom. known as general
revelation.

+ Many Christians believe thaf you can learn
about God by studying the universe. This is
known as natural theslogy.

+ Christianity has been criticised in the past
for encouraging a selfish and destructive
attitude fowards the environment. In
response to this, the Christian Church has
urged peaple to be befter stewards of the
Earth nd the environment.

+ The Sanctity of life

+ Christianity teaches that all life is special because it
comes from God.

+ Human ife is believed fo be particularly precious and s
regarded as sacred.

Before I formed you in the womb I knew you, before you
were born T set you apart; T appointed you as @ prophet to
the rations.(Jeremiah 1:5)

+ Abelief in the sanctity of life can influence the way @
Christion might try to live ther life and their affitude
fowards bioethical issues associated with the beginning
and end of lfe. such as abortion, embryo research.
cloning, fertilty treatments, genetic engineering and
euthanasio.

+ While all Christians may believe in the sanctity of life.
they can have different views about matters of life and
death.

REETR
i the ame o ot

- respect, fove and serve
T e e

‘Origins and velue of human

Scientific thearies argue that human beings were not created when
the universe began billions of years ago but came info being much
later through a process known os evolutian,

@
he theoryof o @ 2T Sl &I
st ; =/
o

o el O

the Origins of
‘Species.

Bilion years ago

Scientific ideas abaut the origins
of human beings do not affect the
Christian belief in the sanctify of human
life

Christians share  respect and regard for the value of human life
with peaple from other religions and agnastics and atheists alke.

The value of human beings is recognised in the Universal
Deslaration of Human Rights.

0

‘Abortion

Abortion is the medical process that ferminates or ends o

human pregnancy so that it does nat result in the birth of

baby.

« Traditionally, the

Christion Church has
taught that abortion is
wrong inall
circumstances. Today,
enominations have.
different views and for
many Christians it is o
Very complex issue.

i3 %

Humanists believe that aborion is a seriovs moral issue. They
support @ womar's right 1o have an abortion. if that is the
right choice for them, but believe that abortion should be o
last resort. Atheists have differing views about abortion,
Some atheists are very pro-life and totally against abortion.
whereas others believe hat it can be a pasitive moral choice.
A Christian may or may not share the views of an atheist or
Humanist about abortion, depending upon each of their
personal beliefs. Most Christians would disagree with the idea
that abortion can be a positive moral chaice.

Death and the afteriife

People have different ideas cbout what
happens after death. Christians believe that
the resurrection of Jesus proves that life
continues after death.

Theists and Humanists do not believe in life
after death. They argue that death is the end
of human existence and to think anything else
is just wishful thinking.

Christians reject all arguments that say there
is no such thing as an afterlife. They are alsa
taught ta answer questions and explain their
beliefs fo the non-religious.

Some peaple clim to have had near death
experiences, which they think supports the.
idea of an afterlife, although others disagree
and say that this can be explained in ather
ways.

Eut

Euthanasia i a ferm used 1o describe the deliberate act of
ending a persors lfe to relieve pain and suffering. It is @
‘complex issue and can also be known as assisted dying

Hospices and
palliative care are
alfernatives to
euthanasic.

Maost Christians
disagree with
euthanasia and
Shink it is morally
wrong. This is
because of @
belief in the
sanctity of lfe.

Humanists and many atheists would like 1o see
voluntary euthancsia legalised, under strict conditions
They believe that it is everyone’s basic human right 1o
be able fa choose how and when they die.

Christians do not want euthanasia 1o be legalised

ious responses o the natural world

Christians believe that stewardship is a way of life. This means they
have a responsibility to fry o protect and improve the environment.

‘Operation Noch is an ecumenical Christian charity which is very
cancerned about climate change. It says hat the fime has now come.
for everyone. particularly Christians, to fake action against this.

Howr st end hdroseyt Tn the past. Christianity hos

been criticised for its
attitude towards animals.
Today most Christians believe
that animals are an important
part of Gods creation

However. they have different
ideas about the rale of
animals and, in some cases.
how they should be treated.
The Anglican Sociey far the
Welfare of Animals (ASWA)
s @ Church of England
organisation that supports
animal welfare.

It also campaigrs fo stop the cbuse of animals Organisation.
which aims 1o educate people about the importance of caring for.
all of creation.

Exam questions

+ Outline 3 arguments for life after death (3 Marks)

+ Outline 3 reason for why o Christian might oppose abortion
(3 Marks)

+ Outline 3 arguments in suppart of euthanasia (3 marks)

+ Explain two scientific explanations about the origins of
human life. (4marks)

+ Explain two reasons why a nonreligious person would reject
belief ina life after death. (4 marks)

+ Explain two different Christian beliefs about animal rights
(5 marks)

+ Explain two reasons why Christians believe in the existence
of life after death. (5 marks)
+ Explain two reasons why a Christian might oppose
Euthanasia. (5 marks)
> In your answer you must refer fo a source of wisdom
‘and autharity

+ *Human life created fself (12 marks)

+ *Abartion s abways wrong’ (12 Marks)

+ "There is no good reason 1o believe in an afterlife.”
>Refer ta Christian teachings
>Refer to a different Christian point of view
>Read a justified conclusion

Key terms

Big Bang
Ascientific
theary regarding
the arigin f the.

Sanctity of Life
“The belief that
life s holy and
belongs o God

Abortion:
The eliberate
ending of o
pregnancy by
removal of the
foetus

Paranormal:
Experiences
which suggest
that there may be.
@ nanvisible sprit
world.

Quality of life:
The value given o
life depending an
how far a person
can take
enjoyment form

The deliberate
administering of
life ending
medication by a
third party

Hospice:
A place which
provides care for
people who have
terminl ilness

Stewardship
Looking after
something that is
not your own
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5. Flash Cards.

Cut up one piece of A4 paper in to 8 equal
rectangles. Create 8 flashcards. (write a
keyword or question on one side and a
definition or answer on the other). Ask

someone to test you on them.

1. Look, Say, Cover, Write,
Check.
Look at the next page for
more details on how to do
this correctly.

Tasks you can do to

4. Test it.
help you learn your Ask someone to test you using
Subject knowledge your quiz questions. You can do
this verbally.

2. Explain it.
Read the page. Turn it over

and then explain what you
have just read to a family
member or oven the dog.

3. Quizit.

Write a quiz on the facts. Create

between 7-10 questions on the
information you have read. Then on
the back write down what the answers
would be.
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Look, Say, Cover, Write, Check




